Prefixes Chart

	-----Prefix---- 
	 Symbol 
	-------------------Factor------------------
	  -----------
	  --------




	 tera 
	 T 
	 1 000 000 000 000 
	= 10 12 
	(e+12) 

	 giga 
	 G 
	 1 000 000 000 
	= 10 9 
	(e+9) 

	 mega 
	 M 
	 1 000 000 
	= 10 6 
	(e+6) 

	 kilo 
	 k 
	 1 000 
	= 10 3 
	(e+3) 

	 hecto 
	 h 
	 100 
	= 10 2
	(e+2) 

	 deca 
	 da 
	 10 
	= 10 1
	(e+1) 

	------------------
	------------
	 1 --------------------------------------------------
	--------------
	----------

	 deci 
	 d 
	 0.1 or 1 / 10
	= 10 -1
	(e-1) 

	 centi 
	 c 
	 0.01 or 1 / 100
	= 10 -2
	(e-2) 

	 milli 
	 m 
	 0.001 or 1 / 1 000
	= 10 -3 
	(e-3) 

	 micro 
	 µ 
	 0.000 001 or 1 / 1 000 000
	= 10 -6 
	(e-6) 

	 nano 
	 n 
	 0.000 000 001 or 1 / 1 000 000 000
	= 10 -9 
	(e-9) 

	 pico 
	 p 
	 0.000 000 000 001 or 1 / 1 000 000 000 000
	= 10 -12 
	(e-12) 




Prefixes for SI Units and Derived SI Units

Other conversions:

1 meter = 3.28 feet

1 kilometer = 1000 meters

1 meter = 1000 millimeters

1 kilometer = 0.621 miles

Name:

Unit 1 Quiz: Introduction and Math
Multiple Choice; choose the best answer to each question and write the appropriate letter in the space provided (5 points each).
_________
1)
What should you do first in the event of an accident in the laboratory?

A) Try to clean it up yourself.
B) Leave to hide in the bathroom.
C) Tell the teacher immediately.
D) Run in circles screaming hysterically.

_________
2)
Which of the following should you use to measure distance in the SI system?
A) Feet
B) Slug

C) Meter
D) Second
_________
3)
The how many centimeters are in 1 meter?

A) 10.
B) 36.
C) 39.
D) 100.

4)
Convert 600 kilometers to millimeters.

5)
Convert 12 years to days.

6)
Convert 13 meters to feet.

7)
Convert 500 kilometers to miles.

Evaluate each of the following expressions for each of the values given.  


8)
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Evaluate each of the following expressions for a = -2 and b = 3.  
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Put the following numbers into scientific notation:

12)
299,800,000 m/s


13)
0.02204 m


14)
0.000000000163 kg
15)
11 kg

Problems; answer the following questions in the space provided. Show all work (20 pts each). 
16)
Using the graph below (5 pts each)

A)
Find the value for the slope of the best fit line.

B)
Find the value for the y - intercept of the best fit line.

C)
Define in words the meaning of the y - intercept.

D)
What kind of relationship is represented by the graph?
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E)
State the formula for the best fit line.
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